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QUESTION 1

Which of the following can form part of a definition of Green IT? 

a.

 Reducing the carbon footprint of IT operations. 

b.

 Using IT operations to offset emissions elsewhere. 

c.

 Ensuring the sustainability of resources used by IT. 

d.

 Using IT to reduce an organisation carbon footprint. 

A. 

a, b and c. 

B. 

a, c and d. 

C. 

b and c. 

D. 

b, c and d. 

Correct Answer: B 

 

QUESTION 2

Which of the following methods is used to assess the full lifecycle cost to a user of an IT service? 

A. Total Cost of Utilisation. 

B. Total Cost of Ownership. 

C. Total Cost of Provision. 

D. Total Cost of Allocation. 

Correct Answer: B 
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QUESTION 3

Which of the following uses Greenhouse Gas conversion factors to work out CO2 emissions? 

A. The ROCI Matrix. 

B. The Emissions Reduction Flowchart. 

C. The Carbon Footprint Calculator. 

D. The Electronic Product Environmental Assessment Tool. 

Correct Answer: C 

 

QUESTION 4

Which of the following is part of a Green IT Procurement process? 

A. Implementing effective escrow agreements for software products. 

B. Negotiating discounts for products with high energy consumption. 

C. Requiring that suppliers have an effective Health and Safety policy. 

D. Ensuring that suppliers comply with your environmental policy. 

Correct Answer: D 

 

QUESTION 5

Which of the following is the most likely reason for privacy and data protection regulations hampering Green IT
initiatives? 

A. They increase the need for desktop PCs. 

B. They increase the need for data storage. 

C. They increase the need for standalone printers. 

D. They increase the need for virtualised computing. 

Correct Answer: B 
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